
 
 www.alliedboltinc.com

		  www.alliedboltinc.com
P: 516-512-7600 F: 516-512-7611

Fastener Power Utility Hardware Catalog November 30, 2024

Copyright © 2024 Allied Bolt Products, LLC. All rights reserved 1 of 1

Hardware Packages

BOLT KITS
STAINLESS STEEL BOLT KIT
PART# DESCRIPTION PKG

QTY
CTN
QTY

CTN
WT.

111 5/16" X 2" STAINLESS STEEL BOLT KIT W/ 304 HEX CAP SCREW, 304 FLAT WASHER, 304 SPLIT LOCK
WASHER & SILICON BRONZE NUT

100 8 31

19995 1/2" X 1-1/2" STAINLESS STEEL BOLT KIT W/ 304 HEX CAP SCREW, 304 FLAT WASHER, 304 SPLIT LOCK
WASHER & SILICON BRONZE NUT

1 100 18

19996 1/2" X 2"STAINLESS STEEL BOLT KIT W/ 304 HEX CAP SCREW, 304 FLAT WASHER, 304 SPLIT LOCK
WASHER & SILICON BRONZE NUT

1 100 21

19997 1/2" X 2-1/2" STAINLESS STEEL BOLT KIT W/ 304 HEX CAP SCREW, 304 FLAT WASHER, 304 SPLIT LOCK
WASHER & SILICON BRONZE NUT

1 100 10

19998 1/2" X 3" STAINLESS STEEL BOLT KIT W/ 304 HEX CAP SCREW, 304 FLAT WASHER, 304 SPLIT LOCK
WASHER & SILICON BRONZE NUT

1 100 14

GRADE 8 BOLT KIT
PART# DESCRIPTION PKG

QTY
CTN
QTY

CTN
WT.

759 1/4" X 3/4" GRADE 8 BOLT KIT W/ HEX CAP SCREW, SPLIT LOCK WASHER, USS FLAT WASHER &
FINISHED HEX NUT GRADE 2

1 400 13

761 1/4" X 2-1/2" GRADE 8 BOLT KIT W/ HEX CAP SCREW, USS FLAT WASHER, NEOPRENE BACKED
WASHER, ROUND WASHER, & FINISHED HEX LOCK NUT GRADE 2

2 100 10

760 5/16" X 2-1/2" GRADE 8 BOLT KIT W/ HEX CAP SCREW, SPLIT LOCK WASHER, USS FLAT WASHER &
FINISHED HEX NUT GRADE 2

1 50 12

GRADE 2 BOLT KIT
PART# DESCRIPTION PKG

QTY
CTN
QTY

CTN
WT.

1009 1/4" X 2" HEX BOLT WITH NUT AND WASHER 100 8 34

1029 5/16" X 2-1/2" HEX BOLT WITH NUT AND WASHER 100 4 33

112 3/8" X 2"  GRADE 2 BOLT KIT W/ FINISHED HEX NUT 100 4 27

1013 5/16" X 2-1/4" HEX BOLT WITH NUT, LOCKWASHER, AND FIBER WASHER 1 100 8


